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package poo_unidade_11_ex05_blockingbuffer;package poo_unidade_11_ex05_blockingbuffer;package poo_unidade_11_ex05_blockingbuffer;package poo_unidade_11_ex05_blockingbuffer;

import java.util.concurrent.ExecutorService;import java.util.concurrent.ExecutorService;import java.util.concurrent.ExecutorService;import java.util.concurrent.ExecutorService;import java.util.concurrent.ExecutorService;import java.util.concurrent.ExecutorService;import java.util.concurrent.ExecutorService;import java.util.concurrent.ExecutorService;import java.util.concurrent.ExecutorService;import java.util.concurrent.ExecutorService;
import java.util.concurrent.Executors;import java.util.concurrent.Executors;import java.util.concurrent.Executors;import java.util.concurrent.Executors;import java.util.concurrent.Executors;import java.util.concurrent.Executors;import java.util.concurrent.Executors;import java.util.concurrent.Executors;import java.util.concurrent.Executors;import java.util.concurrent.Executors;

/**
 * @author Edwar Saliba Júnior Edwar Saliba Júnior Edwar Saliba Júnior Edwar Saliba Júnior Edwar Saliba Júnior Edwar Saliba Júnior
 */
public class public class public class public class POO_Unidade_11_Ex05_BlokingBuffer {

    public static void     public static void     public static void     public static void     public static void     public static void     public static void main(String[] args) {(String[] args) {(String[] args) {(String[] args) {(String[] args) {(String[] args) {(String[] args) {(String[] args) {(String[] args) {
        // Cria novo pool para duas threads.        // Cria novo pool para duas threads.
        ExecutorService application = Executors.        ExecutorService application = Executors.        ExecutorService application = Executors.        ExecutorService application = Executors.        ExecutorService application = Executors.        ExecutorService application = Executors.        ExecutorService application = Executors.        ExecutorService application = Executors.        ExecutorService application = Executors.newFixedThreadPool(2);
        
        Buffer sharedLocation = new BlockingBuffer();        Buffer sharedLocation = new BlockingBuffer();        Buffer sharedLocation = new BlockingBuffer();        Buffer sharedLocation = new BlockingBuffer();        Buffer sharedLocation = new BlockingBuffer();        Buffer sharedLocation = new BlockingBuffer();        Buffer sharedLocation = new BlockingBuffer();        Buffer sharedLocation = new BlockingBuffer();        Buffer sharedLocation = new BlockingBuffer();        Buffer sharedLocation = new BlockingBuffer();        Buffer sharedLocation = new BlockingBuffer();        Buffer sharedLocation = new BlockingBuffer();        Buffer sharedLocation = new BlockingBuffer();
        
        try{        try{        try{
            application.execute(new Produtor(sharedLocation));            application.execute(new Produtor(sharedLocation));            application.execute(new Produtor(sharedLocation));            application.execute(new Produtor(sharedLocation));            application.execute(new Produtor(sharedLocation));            application.execute(new Produtor(sharedLocation));            application.execute(new Produtor(sharedLocation));            application.execute(new Produtor(sharedLocation));            application.execute(new Produtor(sharedLocation));            application.execute(new Produtor(sharedLocation));            application.execute(new Produtor(sharedLocation));            application.execute(new Produtor(sharedLocation));            application.execute(new Produtor(sharedLocation));
            application.execute(new Consumidor(sharedLocation));            application.execute(new Consumidor(sharedLocation));            application.execute(new Consumidor(sharedLocation));            application.execute(new Consumidor(sharedLocation));            application.execute(new Consumidor(sharedLocation));            application.execute(new Consumidor(sharedLocation));            application.execute(new Consumidor(sharedLocation));            application.execute(new Consumidor(sharedLocation));            application.execute(new Consumidor(sharedLocation));            application.execute(new Consumidor(sharedLocation));            application.execute(new Consumidor(sharedLocation));            application.execute(new Consumidor(sharedLocation));            application.execute(new Consumidor(sharedLocation));
        }
        catch(Exception e){        catch(Exception e){        catch(Exception e){        catch(Exception e){        catch(Exception e){        catch(Exception e){        catch(Exception e){        catch(Exception e){
            e.printStackTrace();            e.printStackTrace();            e.printStackTrace();            e.printStackTrace();            e.printStackTrace();            e.printStackTrace();            e.printStackTrace();
        }
    }
}
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